Vocabulary Cards and Word Walls

Revised: August 29, 2011

Important Notes for Teachers:

e The vocabulary cards in this file match the Common Core, the math
curriculum adopted by the Utah State Board of Education, August 2010.

e The cards are arranged alphabetically.

e Each card has three sections.

O Section 1 is only the word. This is to be used as a visual aid in
spelling and pronunciation. It is also used when students are writing
their own “kid-friendly” definition and drawing their own graphic.

0 Section 2 has the word and a graphic. This graphic is available to be
used as a model by the teacher.

0 Section 3 has the word, a graphic, and a definition. This is to be used
for the Word Wall in the classroom. For more information on using a
Word Wall for Daily Review — see “Vocabulary — Word Wall Ideas”
on this website.

e These cards are designed to help all students with math content vocabulary,
including ELL, Gifted and Talented, Special Education, and Regular
Education students.

For possible additions or corrections to the vocabulary cards, please contact the
Granite School District Math Department at 385-646-4239.
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absolute value

absolute
value




acute triangle

acute
t ri a n gl e measuring or more.




additive inverse

® ®
additive 343 =
3 is the additive inverse, or opposite, of 3

®
ln ‘ 4 e r S e 3 is the additive inverse, or opposite, of '3

®o 0 + - _
addltlve 3 + 3 Il O A number that is the same

"3 is the additive inverse, distance from 0 on the
or opposite, of 3 number line, but in the

inve r S e "3 is the additive inverse, opposite direction

or opposite, of 3



adjacent angle

B D

C Two angles in a plane

. A that have a common

a d J a c e nt yertex and a common
side. They do not have

any common interior

an gle B D points. In other words,

they do not share any
ZABC is adjacent to LCBD. “Inside space.”




2 rows of 5 = 10 square units
or

area 2 x 5 =10 square units

2 rows of 5 = 10 square units

or The measure, in square
2 x 5 =10 square units units, of the interior
a r e a region of a 2-dimensional
figure or the surface of a

- 3-dimensional figure.



area (circle)

The measure, in square
a r e a units, of the interior
region of a 2-
° }“ dimensional figure.
(c l r c l e) // The formula for the
~ area of a circle, A= 7zr’.




arca
(regular polygon)

area WA
(regular polygon) . lwua-lan

area . 4AV ff:

(regular polygon) th oo I;g dby

eeeeeeee

eeeeeeee



arca
(quadrilateral)

rectangle: A=Dbh

arca b
square: A=s’ trapezoid : A:%(bl +b)h
(quadrilateral) s a

rectangle: A=bh

h Area 1s the
a r e a b measurement of the
| 2-dimensional
. square: A=s’ trapezoid: A=—(b +b,)h region enclosed by
2
(qll adl‘llatel‘al) b the quadrilateral.

S ‘

S b1




area (triangle)

area
(triangle)

arca
(triangle)

A=Lbh,
2




y“/
o X-axis
AXI1S | :

A reference line from
° X-axis which distances or angles
¥ are measured in a
coordinate grid.
(plural — axes)

o\
%
-
N




circumference




coefficient

5X
coefficient /

coefficient

A numerical factor in a term
of an algebraic expression.



commissions

Mr. Bennie receives a 30%
commission on each car that he sells.

A fee charged by a
broker or agent for
his/her service in
facilitating a
transaction.

commissions

Mr. Bennie receives a 30%
commission on each car that he sells.



complementary

MZQRS + m£SRT =90°
60°
R T
angles
45° 45°
J A

0
WS MZQRS + m£SRT =90’ T‘;VO angles ?’Eeh
° complementary 1f they
complementary L .

add up to 90° (right
angle). They don't have

angleS ~ to be next to each other.
mZJ +mZLA =90
45° 45°
J A



compound event

What is the probability of tossing a head
e b e n on a quarter and rolling a ‘3’ on a die?

compound

t What is the probability of
even tossing a head on a quarter and

rolling a ‘3” on a die?

Two or more independent
events considered together.



coordinate plane

A 2-dimensional system in which

c O O rdin ate the coordinates of a point are its

R distances from two intersecting,
x usually perpendicular, straight lines

plan e called axes. (Also called coordinate

grid or coordinate system.)




coordinate system

Also known as a coordinate

o grid. A

c O O r dln at e 2-dimensional system in which
) ; the coordinates of a point are

‘ x its distances from two

Sys te m intersecting, usually

perpendicular, straight lines
called axes.




coordinates



A three-dimensional
shape with six square
faces.




Number of School Carnival
Tickets Sold

Kindergarten 22

1* Grade 15

a a 2" Grade 34
3" Grade 9

4™ Grade 16

5" Grade 29

6™ Grade 11

Number of School Carnival "
Tickets Sold b
Kindergarten 22 Information, especially
d t 1; Grade 15 numerical information.
2™ Grade 34 .
a a ¥ Grade 5 Usually orgaplzed for
4% Grade T analysis.
5™ Grade 29
6" Grade 11




degree of
visual overlap

degree of A ANS
visual overlap . M

y
A Describes the
d e g r e e O f y. : g separation (Qr lack

. l of separation)
visual overlap / \/\. disibations




diagram

A car travels 300 miles on 12 gallons of gas.
300,miles

A car travels 300 miles on 12 gallons of gas.

300,miles .
A drawing that

represents a

diascram
g 3%1% situation.

gal
gal
gal
gal
gal
gal
gal
gal
gal
gal
gal
gal



Distributive Property
Distributive
Property

Example:

S(X+2)=(5x)+(5%)

o o o Example: )
DlStrlb utlve a .a(k: Z'bc_) C—) (:a(.ab-)l;-) (_a(;C.)Cind
XA =G0+ (G0) where a, b, and ¢ stand for any real

P I'Op Cc rty numbers.



equation

A statement that shows

equ ati()n 9x + 3 — 4x = 7 two mathematical

CXpressions are equal.



equilateral triangle

equilateral
triangle

equilateral
triangle




estimate

: L N . How many jelly beans
are in the jar?

To find a number close
to an exact amount; an
estimate tells about
how much or about
how many.

How many jelly
beans are in the jar?




evaluate

42 — 13 =n
evaluate
n=29
42 — 13 =n
evaluate atematicn exes



What is the probability of A E ¢ ¢
drawing a five of diamonds . 3¢

eV e n t out of a set of playing cards? % & (¢
L
K 3.

1
P(5 of diamonds) = P S
What is the probability of 5
drawing a five of diamonds l; ¢ ¢ ¢ A set of outcomes to
out of a set of playing cards? %Hk r ¢ which a probability 1S
e ‘ e n ti. assigned.
1 L
P(5 of diamonds) = — ’ ‘S

52



expression

A bl combination

eXpreSSlon Sx + 3 ymbolsthat rgb nd

mathematical relatio hp.



An integer that divides
a c t O r evenly into another.

factors



frequency

Score | Tally | Frequency
1 / 1
/ 1
3 n 3
4 / 1
5 1/ 4
6 T 5
7 M/ 6
8 i 5
9 1/ 3
10 / 1
IS) Score | Tally | Frequency
e 1 / 1
% § ;// ; The number of
1 4 |/ 1 times an event
fr e q u e n cy Igl 5 | m 4 occurs within a
6 | # > specific time
T 7| 6 .
e s mr 5 period.
% 9 1/ 3
10 |/ 1




geometric figure

geometric
figure




120

100

80 -

60

40 —

20 —
0 ‘ ‘ ‘

5th Grade 6th Grade 7th Grade 8th Grade

Students Taking Bus

120 .. :
100 - A pictorial device used to

r a h 80 show a numerical
"0 relationship.

40 ||
20 ||
0 1 1 1

5th Grade 6th Grade 7th Grade 8th Grade



ogratuities

Samantha paid the
waiter a $7.50 tip
for the delicious
dinner he served.

_ Something given
Samantha paid the  yoluntarily or beyond
waiter a 87.50 tip obligation usually for

Jor the delicious some service: tip.
dinner he served.



inequality

Sx+6<20-2x

inequality

Sx+6<20-2x

A mathematical sentence that
compares two unequal
expressions using one of the
symbols <, >, <, >, or #.

inequality




inferences

Every 10 years, the United States
Census Bureau surveys the entire

United States and organizes all
o the data they collect. The .
f government then uses statistics to ,
ln e r e n c e S organize and analyze the data to ARl _OUR e
make logical conclusions about CUmted States

what kind of things may happen to ensus

us in the future. 2010

Every 10 years, the United
States Census Bureau

surveys the entire United The act or process
States and organizes all

° the data they collect. The - of der1v1pg logical
inferences =rmme’ e oo ion
statistics to organize and 5 .
analyze the data to make United States premises known or
logical conclusions about Census assumed to be true.

what kind of things may 2010
happen to us in the future.




Integers

START
"109-8-7-6-5-432-100123456782910
START
- ! + The set of whole

L
lntegel‘s s s esas5a0133 4567 ssmn  humbersand their

opposites.



1sosceles triangle

isosceles /\
triangle

is 0SC ele S A triangle that has at least
triangle o




likely event




long division

332 R0
23 ;7636
=69
73
69
@ o ® 46
division e
0
332 R0
l 23_283 6 A standard procedure
O n g 73 suitable for dividing simple
or complex multi-digit
-69
— numbers.

division i

0



markdowns

An item originally priced at $55 is marked
25% off. What is the sale price?

First, I'll find the markdown. The
markdown is 25% of the original price
of $55, so:

x = (0.25)(55) = 13.75

By subtracting this markdown from the
original price, I can find the sale price:

55-13.75=41.25
The sale price is $41.25.

An item originally priced at $55 is
marked 25% off. What is the sale price?

First, I'll find the markdown. The
markdown is 25% of the original

k d X = (0.25)(55) = 13.75 which a price is
m a r O ‘ ‘ n S By subtracting this markdown from reduced.
the original price, I can find the sale

price:
55-13.75=41.25
The sale price is $41.25.



markups

A computer software retailer used a markup
rate of 40%. Find the selling price of a
computer game that cost the retailer $25.

The markup is 40% of the $25 cost, so
the markup is:

(0.40)(25)=10
Then the selling price, being the cost plus

markup, is:

25+10=35
The item sold for $35. 4 $10 profit.

A computer software retailer used a markup
rate of 40%. Find the selling price of a
computer game that cost the retailer $25.

The markup is 40% of the $25 cost, so
the markup is:

m arkup S (0.40)(25)=10

Then the selling price, being the cost
plus markup, is:

25+10=35
The item sold for $35. 4 $10 profit.

An amount added to the
cost price to determine
the selling price;
broadly: profit




mean absolute
deviation

Step 1: Find the mean. (56+78+88)/3 =74

Step 2: Determine the deviation of each
variable from the mean.

&
mean absolute %\f(g S

Step 3: Make the deviation ‘absolute’ by
taking the absolute value of each deviation.

[ o
(eliminate the negative)
The weights of the three
Step 4: (18 +4 + 16)/3 = 12.67 is the mean

people are 56 kgs, 78
kgs, and 88 kgs. absolute deviation.

Step 1: Find the mean. (56+78+88)/3 =74
mean e®a |mimwmoes | s, e

h-r o s absolute deviation of an

b l t 90-74=16 element of a data set i1s

Step 3: Make the deviation ‘absolute’ b :

ADSO1UtE scos ke edossin oty | he absolute difference

The weights of the (eliminate the negative) b etween that el ement

three

[ ] o . ) . ' '
1 56 kgs, 78 Step 4: (18 +4 + 16)/3 = 12.67 is the mean
d e ‘ 7 l atl O n pelci]; Se 2;ed ok k%;& absolute deviation. and a given point.




measure of center

¢ Examples:
mccasurce IR W
f fx o ox x Median =2
of center . )
Number of Pets Mean = 2.3

Examples: An average; a single value

. that 1s used to represent a
m e a S u r e m collection of data. Three

X

X

X

. commonly used types of

x x x x Median = 2 averages are mode, median,
O f c e nt e r X X X X and mean. (Also called

x ¥ x X x measures of central tendency

1 2 3 4 s |Mean=23 or measures of average.)

Number of Pets




measure of variation

measure of -
variation - U

A measure of how much a
collection of data is spread
out. Commonly used types
x include range and quartiles.
A © g (Also knpwn as spread or

> ‘ dispersion.)

Number of Pets

measure of
variation

et B T o B
Mo A e










